UGC NET PAPER -1V
Previous Year Question Paper:
PYQ Revision) -

Easy Notes 4u

Online Study



b.

Which one of the following Pramanas is
accepted in Vaisheshika philosophy?

freafaflga ¥ ®i9-9 YATT d9iftes 99t |
??m fer W 37
A) Pratyaksha/JcTe] YB{ Anuman/3AHE

(C) Upamana/39HTH (D) Sabda/TTe
(E) Arthapatti/3T2Taft

Choose the most appropriate answer from the
options given below:

e fear T fasedt © @ O 31 -9
(a) (A) and (B) only/&ae (A) 3R (B)

(6) (B) and (C) only/hda (B) 3R (C)
(¢) (C) and (D) only/&ae (C) 3R (D)
(d) (A) and (D) only/&ae (A) 3R (D)
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In the ﬁgu're-of' c'ateg(')rical sy'll'ogism, Qu'antity
and Quality of a proposition determine :

i =meateRr o earfuTes ganT | feRdt
gfastied aht |TEAT 3R IUTeT At fehdant
frerifta et &7

(a) Validity of Syllogism/=ITaTeRT &1 derr

(b) Mode of the Syllogism/=T&dTeR &1 fa=amd
(¢) Figure of the Syllogism/=Eaa & J&Y

(d) Fallacy of the Syllogism/=ATIdTH ] AT

®)




Match List I with List I1:
T=ht—1 =ht W=h—11 9O gafaa aﬁﬁﬂu;

]

qualities

wrerfires wa TitoT T

List/@=i— 1 =H— 11

(Concept/HaheaAT0) (Philosopher/

(A) Phenomenon and (I) Aristotle/3{E]
Noumenon Vs —_—
gZ4AT Td qU9dr P

(B) Potential and actu (IT) Descartes
being Sghe Y
HOTaAT U dridfash

(C) Mind and Body '(ﬁg Locke/dlh
Dualism
79 ud IR gaa=

(D) Primary and Secondary M/Kant/—oﬁl'_cf

Choose the correct answer from the options
given below:
fateaRaa faeheat A 9 @& 3O g —
(a) (A)— (D, (B)—IID), (C) —AV), (D) — 1D
(b) (A)—(ID), (B) — D), (C) — @), (D) —AV)
(A) — (AV), (B) — (D), (C) — (II), (D) — (1II)
(d) (A) — D, (B) — V), (C) — II), (D) — (I)




According to the law of excluded middle :@
afsid Wed o 90 o 31 AR

(a) A proposition could be true and false
simultaneously

yfaftd Ueh 1y T 3R TeId & Gehell |
\Qa?f A proposition 1s either true or false
gfagfid a1 aF Wl & 3791 Terd ¢ |
(¢c) A proposition 1s true 1f 1t 1s true
S e ¢ afs a9’ Tél |

(d) A proposition 1s neither true nor false

yfoftd 7 o 9& 8 3 7 & e




An unsolicited e-mail message sent to many
recipients at once is

FE WA & T W e T
HATA 3-UeT WHW giel g

(2) Inbox/3TaTaH Spam/HH 4
(¢) Virus/dratH (d) Attack/




Given below are two statements:
ir=r = ehe= fou 7@ 8
Statement/ahelA (1) :

Operators are_special symbols that are used to
= _—
perform calculations, make comparisons and

check logical condition/31T932X 999 Idish @ld @
S w=mm ufResaa &, o & AR difheh
f@qﬁ?ﬁaﬁxﬂiddﬂ:‘i%mmmél\/
Statement/eheTA (1) :

Relational operators are used for arithmetic

operations/REeHar  3aied &1 WIANT TR0
dfespar (cRgffess Ataiem) & o fopar Smar 2

In the light of the above statements, choose the
correct answer from the options given below:

SUI<h ShAAT oh 2ATATeh H faAfariaa fakear o

E=) '{:I%i' 3 ﬂﬁ':

(a) Both Statement I and Statement II are true
HA9 1 3T 11 a4 91 1

(b) Both Statement I and Statement Il are false
e 1 37T 11 <1 Tad 21

(c) Statement 1 1s correct but Statement\ll/é
false/had I 9 & m HAT 11 TTed 2 |

(d) Statement 1 1s 1ncorrect but Statement Il i1s
true/shga 1 3T 2 fohg = 11 Tt 21




Given below are two statements :
Hier =t sk feg @ ©
Statement/aheIA (1) :

In peer-to-peer network there 1s no central server
instead each computer can act as a server as well

as a clien/guarfa_ (T = 9=0) D29 H HiE
F=0T GaI_Tgl_Biar_g dfess ¥Wh  ISH Udh
HTSY Weh Tal 37X Ueh FARE o &9 H Hrd
Hehdl 2 | \/?R
Statement/sh2ard (11) :

LLAN 1s a computer network created for individual
person/LAN &fts a9y 3 ™A1 &7 HFRIEL

Sedeh Bidar g |

In the light of the above statements, choose the
correct answer from the options given below:

SUd<h SheAT oh ATelleh W fAATariEaa faeheal o

T Tt 39T g

(a) Both Statement I and Statement Il are true
o= 1 31 11 <=1 981 1

(b) Both Statement I and Statement Il are false

o I 31X II <41 7Ted 21

(c)/Statement I 1s correct but Statement II 1s false
FI9 1 I ¢ fobg 99 11 Tera 2 |

(d) Statement I 1s incorrect but Statement II is

true/h9= 1 379 8 fohg o= 11 w2t 21




A computer network enables two or more
computers to :

aﬁs‘mﬁma}ma}ﬁmmﬁ
& frAfeiigd § O 9T o9 & T et
TETAT §—
(a) Increase the speed/¥iE g #

(b) Share data and hardware resources

SIeT 3R AT THIEH! I Trem & §
(¢) Increase the work/&d @i #
(d) Monitor the softwarefﬂmaﬂi &l ﬁﬁﬂﬁ & A




Which of the following countries has not
signed/ratified the International solar Alliance

Framework Agreement?

frafafga # o fwe Q9T 9 FeHyEd dier

AT ThAdeh WiHe UT gLy ahT Tgame=
&t ferar 27 v
(a) Australia/STIE}ﬁFIT | @\/

(b) United Kingdom/gA13e€ fehiren
(c) Japan/ST9H / Vv

@ China STy




Given below are two statements One is labelled 0 \‘5,
as Assertion (A) and the other is labelled as \4
Reason (R): )
\fﬁ:ﬂ—?ezq(A) STY €Y ahl 9k (R) ShaTl ITAT 81 /
‘Assertion/3ITTaRHaIT (A) : 9—'
Energy production from biomass has traditionally ///’
been con51dered as carbon neutronfclle-llHI-H
3ATE— ohl 9Egiish &9 o shiaA =T HTET STl 21
\/Reason/?lé? (R) :
Carbon dioxide emissions from combustion of
biomass are used by developlng/a'l?iﬁ'l:lm = =t<ia M=
Iafsta spreada Ergsradiss o1 fasrashsr s
T I9ANT ke =T sar 2

In the light of the above statements choose the

correct answer from the options given below_: __
SITeTeh o ﬁl‘l:r%l%@?r faekear A

(a)/Both (A) and (R) are true and (R) 1s the

correct explanation of (A)/(A) 3ﬁ? (R) =11

ET 2 3T (R), (A) HI TE === @

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)/(A) (R) =1
& @ Ug (R). (A) T H&l === 7 2

(c) (A) i1s true but (R) 1s false
(A) T 2 g (R) D& a1 21

(d) (A) is false but (R) is true

(A) T 8T @ 9 (R) Ha&r 21




For wind power electricity generation which AR 12~
among the following type of rotors is most | - ’2)/
commonly used? (\\

o Hell 3dTe gq fAefead | ¥ fore gar
& Uik (AST) T W AR U Waifereh wamT
ferarm rar 872

(a) Multiblade rotor/Acd Isig Ul

(®) Propellé? rotor/J4eR ﬂE'{j\/

(c) Savonius rotor/dal=ad T

(d) Darrieus rotor/SR&H TeX




In ancient lnf;lia Bihar Centl:al University was \ ew\‘,\ w
located at whlch’of the following place? 1
yeftm ama o fer eeia favataemee ( \_:/
Frcrferfias % & famt o w feo o7 Cﬂl’& N

(A) Navadeep/dd<rd ’@B’{ Nalanda/ATei<r / "f/\o/

(C) Vallabhi/aeart / (P)/Jagaddala/ﬁﬂm Bﬁ

(E) Kanchi/ehidl /

Choose the correct answer from the options
given below:

st ferdr T fermet o W W S R
(a) (A), (B), (C) only/&ad (A), (B), (C)
(b) (B). (C), (D) only/&ad (B), (C), (D)
(¢) (C), (D), (E) only/&d (C), (D), (E)
(d) (D), (E), (A) only/&ae (D), (E), (A)




Arrange the steps followed in the process of

value clarification:

el TEIeRUT kel # YT S aTel =un

o AT il

(A) Students are provided with an issue \/
ferenféfal st weh ey e i 2

(B) Students suggest alternative solutions \/
feradf dspfeaes qumem gam )

(C) Students express their feelings about each
alternative/faendl ¥ fawes & IR § a1aR
WG ehe & ¢ |

(D) Students consider the consequences of each
alternative/foamdf s fages & wRuml
foram a2

(E) Students express their preference and make a
choice/famndf 310+ Frafierdd =& ad § 3K

& foded gHd g1

Choose the correct answer from the options
given below :

ﬁ%ﬁﬁﬁﬁwﬁﬁﬁuﬁwqﬁ'&
) (A (B)L(O).(

1 f@-fﬁlfD_L(C),(E) )

(c) (A), (C), (B), (D), (E)
(d) (A), (B), (E), (C), (D)

S




As per the recent All India Survey on
Education the Gross Enrollment Ratio (GER)

in Higher education for the vear 2018-19, in
India is-

oraar = |r=Eer H g & 7 feeuw 71 a1figey
WA TATUT ok I, Ta °J a9 2018-19
2d S=oa Bram A Twmer FAmHieka II9mA

Ghgam) &—
(a) 24.62 (b) 25.6% <\\\>
62_6_3‘}’6 A (d) 27.8%

Q(-‘b \/ RPN R 3

—
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UGC portal 'e-SARTS' is for-

gSitdEr. aider ‘e-SARTS’ fa=fafaa @ &

fraar foee?

(a) Special Assistance for Research in
Technology and Sciences/fasma 3R stenfisht
# gy & foau fave ggmarn

(b) Special Assistance for Research and Training
in Sciences/fag= # uf¥eior 3R sIgEY= &+
fore faeiy g

(¢) Support for Academic and Research Training

in Social Sciences/9Hs H fag= ° gifas ug

Iy wfererer & foag uda

Scholarship-Fellowship Award Registration

Tracking System/THIGRIIT  FHAlfIg 3G

oy 2fdhT fawen




Question Number : (1 to 5)

Question Label : Comprehension l!

Consider the following table that shows the number
of girls enrolled in three different Universities A, B
and C over the years 2015 to 2019. Based on the data
in the table, answer the questions 1-5 :

frafataa arfeenT u faem wiftse fyad ad 2015 9
wRT 2019 d@ar fafasr fagfaesme=i A, B iR C #®
TRFAT A areft aferehtett sl Hieam gorelt E ¥
aTferehT W U 7T 3Tehes & MUR W Y9I 1 ¥ 5 o
I AT -

Year-wise Number of Girls in Different Universities

fafirsr fagfaemaa o arfdch=il ot auar |@&r

Number of girls in a University
Year/ad fergfaames W = i @&
A B C
2015 15,000 10,000 5,000
2016 10,000 14,500 20,000
2017 22,500 12,000 1
2018 \ 20,000 ZS,OEED i 15,00;b
2019 25,000 20,000 22,500

What is the ratio between the total number of
girls enrolled in University C in the year 2018
and the total number of girls enrolled in
University A and University B together in the
same year?

ad 2018 W fagfaamea= ¢ ® IifRger
AMfAaRTsTt &t &l W& qur
fagfaamaa A 3T fagfaamas B ° S

arch arfermreil @t whufrd ool ST @

AT
oY

AT AT 872
(a) 4:3 (b) 3:4
(c) 2:3 (d) 1:3




Question Number : (1 to §5)

Question Label : Comprehension

Consider the following table that shows the number
of girls enrolled in three different Universities A, B
and C over the years 2015 to 2019. Based on the data
in the table, answer the questions 1-5 :

frraferfiga arferest W faem sifse frad ad 2015 9
TRt 2019 deh fafus fagfaeme=t A, B 3R C @
TRFT A ATt STfAeRtell et WIEET IUTE ME ¥
ATfeTehT H ST 7TT 3R & MR W U9 1 ¥ 5 K
I dif -

Year-wise Number of Girls in Different Universities
fafiTsr fargfaenea o sttt s auar §En

Number of girls in a University

Year/a® farsrfeaene™a o ST &t @& T

The difference between the number of girls
enrolled in the year 2019 and 2015 is minimum

g 2019 3T a¥ 2015 W TRIEm @ aredt
afvramst a(erEn B sim Fette o @
.............. o ToTT =AW g

(a) University A only/&ad fagfaamea A

(b) University B only/a‘ﬁfﬂ fagfqarad B

(cy/Both University A and University B
faufoe A 3R fagfomraa B g
(d) Both University A and University C

fguforme™ A 3R fagfoara C 3

A B C
2015 |~ (15000 N (10,000 )] (5,000 )
2016 10,000 14,500 20,000
2017 22,500 12,000 15,000
2018 20,000 25,000 15,000
ZCH i - - —
2019 (25,000 ) /(20,000 (22,500 )




Question Number : (1 to 5)

Question Label : Comprehension

Consider the following table that shows the number
of girls enrolled in three different Universities A, B
and C over the years 2015 to 2019. Based on the data
in the table, answer the questions 1-5 :

frrafefaa arfere uv faem sty e ad 2015 9
&t 2019 @k fafisr fagfaemeat A, B 3R C ®
FRgem o aTeht afereRtelt @ W @i TE
ArfeTenT H fIU M 3Tehe h MR W W9 | ¥ 5 ok
I difeg

Year-wise Number of Girls in Different Universities
fafirs fagfaame o anfaaet & auar G&n
Number of girls in a University

Year/ad %mﬁm@u@
A B~ | C

2015 15,000 10,000 5,000

2016 _10.000 14.500 20,000
2017 22,500 12,000 15,000
2018 20,000 25,000 15,000

2019 25,000 20,000 22,500

What is the average number of girls enrolled in
the year 2017 in all the three Universities
together?

g8 2017 ® it fagfaeme=n @ aifger @
Aeit TTfeAGRT3T ahi 3TET HEAT T 7

(a) 20,000 (b) 16,500

() 10,000 (d) 18,500

WASWD
—
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Question Number : (1 to 5)

Question Label : Comprehension

Consider the following table that shows the number
of girls enrolled in three different Universities A, B
and C over the years 2015 to 2019. Based on the data
in the table, answer the questions 1-5 :

frafafiaa aferat W faem sfsg, fsad a" 2015 9
AT 2019 da fafier fagfaame=i A, B ik ¢ o
TG T ATl ATfeTeRtsll shi W&IT S9TET T8 Bl
ArfeTeRt W foU 7T MR & MUR W U9T | ¥ 5
IR ST :

Year-wise Number of Girls in Different Universities
fafirer faygfaenaa o afetentetl &t Tuar @ET
Number of girls in a University

Year/a® fersrferemea o ST ol €&

A B C
2015 \_15,000 10,000 | 5,000
2016 10,000 14,500 20,000
2017 |, 22,500 12,000 | _15,000
2018 ~4 20,000 25,000 | 15,000
2019 25,000 20,000 22,500

Total number of girls enrolled in all the three
Universities together in the year 2015 and what
percentage (%) of the total number of girls
enrolled in University C in the year 2018?

ad 2015 ° =t fagfaenast § Ifager =
ATl sfereRTalt @ wRAfT et e o 2018
7 fagfaeameaa ¢ # Iiger o arett [
Y T YT ST Tkl WreoTa 82 \}N
a) 200% V4 (b) 225%
(c) 165% (d) 45.4%

b WWO

e
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Question Number : (1 to 5)

Question Label : Comprehension

Consider the following table that shows the number
of girls enrolled in three different Universities A, B
and C over the years 2015 to 2019. Based on the data
in the table, answer the questions 1-5 :

frafafaa arferert ot faam wifsg e ad 2015 @
AR 2019 da fafrsr fagfeemeaat A, B 3fk ¢ o
TRIAT A aTelt STfeTeRtelt sl W& quiet T §
ATfereRt W faU 7T eTTehe & MUR W Y9 1 ¥ 5 &
I difaa ¢

Year-wise Number of Girls in Different Universities
fafirs fagfaameaa W sfetentatl e auar &
Number of girls in a University

Year/ad fergrfaeme= o e o 9=

A B C
2015 15,000 10,000 5,000
2016 10,000 14,500 20,000
2017 22,500 12,000 15,000
2018 20,000 25,000 15,000
2019 25,000 20,000 22,500

Total number of girls enrolled in all the three
Universities together in the year 2015 and what
percentage (%) of the total number of girls
enrolled in University C in the year 2018?

oy 2015 § o= fagfaema=n ¥ Iif@er
ATt STTTGRTSTT Shi QItATCTd Shel W&AT I8 2018
o fagfaemaa C # Sgar A4 Tt ATfeteht3Tr

i TEEHT Rt fehra=T ufara g2
@ 20@ V4 (b) 225% @

(c) 165% (d) 45.4%




Question Number : (1 to 5)

Question Label : Comprehension

Consider the following table that shows the number
of girls enrolled in three different Universities A, B
and C over the years 2015 to 2019. Based on the data
in the table, answer the questions 1-5 :

frafafaa arferert WX fa=m shifse faad ad 2015 9
WAt 2019 wek fafs fagfaemeat A, B 3R ¢ &
TARIAT A aTelt ATfeTehTall sht T ST TE §
Atferert # fIU 7T 27Tehe & IR W UIT | ¥ 5 &
Wiﬁﬁ"l'l{ :

Year-wise Number of Girls in Different Universities
fafirer fagfaemaa o anfaer=ti st auar G&T
Number of girls in a University

Year/a® fagfaemas ° SEmel o9&

A B C
2015 * 15,000 10,000 5,000
2016 ' 10,000 14,500 20,000
2017 4 22,500 12,000 15,000
2018 1 20,000 25,000 15,000
2019 25,000 20,000 22,500

The total number of girls enrolled in all the
three Universities together is second highest for

aeft =t fagfaemaat ¥ oo fiemes fordt ad
" qfgell o arelt Sifeehell shi G 9N
.............. ?@ qST T Gl

(a) 2019 2018 3::\
(c) 2017 (d) 2016
\)\’lgm




From, the following, identify those
characteristics which go within the category
'helping behaviour' for becoming an effective
teacher :

frafaiaa & ¥ 39 fagiaarstt &t gg=a shifaig,
ST Weh WHTEl 37edtgeh == & Q. ‘WErEeh
HTaE’ oh I oh_3iaiid_SATdt 8l
(1) Structuring/ILEAT I
(ii) Student success rate/faamedl THedr
(iii) Using student ideas/faaelf adi ¥ 5=R T AT
iv) Probing/9{i&Iur sh{AT
((v; Instru(fional variety/ﬂﬁﬁyg fafgear

Choose the correct answer from the options
given below :

e T T faeheat ®# | 9 S i

(a) (i), (ii) and (iii) only/shaet (i), (ii) 3 (iii)
(b) (ii), (iii) and (iv) only/shaa (ii), (iii) 3 (iv)
(c) (iii), (iv) and (v) only/shaa (iii), (iv) 37 (v)
(d) (i), (iii) and (iv) only/shad (i), (iii) 3 (iv




What are the activities of teaching associated
with its interactive stage?
orTerur o hia A ShEahda SHeh T T=shAT
=UT 9 Haetara 872
(i) Planning of lesson/913 skl ATSTAT
(11) Determining learning outcomes
stferma gfawai vt i
(111) , Presenting the content interspersed with
questions
seAl o qry faifota fasgasg 1 s
(&) Providing feedback and probing, if needed to be
Sfagfy Sue=y Saar 3R Al AEvgsh 8 ol
HI{AT |
v) Motivating and monitoring students tasks
ferareif & wHraf 1 AT Ta Seh! T SBTAT |
Choose the correct answer from the options
given below
fier o2y 2 faskear # O @ SO IS
(a) (1), (il) and (iii) only/shaaer (i), (ii) 3T (iii)
(b) (ii), (iii) and (iv) only/haeT (ii), (iii) 37T (iv)
(¢) (i), (iii) and (iv) only/shaal (i), (iii) 3T (iv)/

(d) (iii), (iv) and (v) only/shael (iii), (iv) AL (v)




In Gagne's hierarchy of learning which type o@

learning immediately precedes 'Rule learning'?

IRATH o FH & hH T TR y&R &

o

st ‘Praw sifnmm’ 3
(a) Problem solvinﬂming/’élﬂw FI%W e @
(b) Concept learning/S5=d 3feTH

(¢) Discrimination learning/fa¥e= 3iferm

(d) Chain learning/?@e 31ferTH Umu){’/}

Cure




In which of the scales of measurement, the
properties of classification and order, both are

present?

e ATa=T § aRffeRtuT qeI hE AT 70T

Eid &7 L

(a) Nominal/fE%  (b) Ordinal/FHE

(¢) Interval/3AUd (d) Ratio/374rd

@\




Given below are two statements : One is
labelled as Assertion (A) and the other is
labelled as Reason (R) :

= =r =k f@dg 1 § @ S=a9 @ uwss Rt
STRAT=HTT (A) F27T €93 skt 9k (R) ShaTl 31T 81
Assertion/3I3Tsher—T (A) -

Research ethics mandates use of appropriate and
authentic procedures to arrive at truth and

advancing solutions to problem/l?‘ﬁ'i'ﬂ' SATaEaEar
=T TUa 9OI=T3AT o6 9Hrera S50 391 3739 84
fao sSfaa wa warforses wSfse=m=sdd s g"m3nT S5t
STESIOshdl 9 o =dT 2 |

Reason/d<h (R) :
Credibility of research i1s not only a prized goal but
a prerequisite for excellence in human pursuit
e 5T fOga-=ar 9 Shao U a9aargol o2" @ 37faq
AT =l B SohEohdl ad gaiaslr 2
In the light of the above statements, choose the
most appropriate answer from the options
given below :
=X SHeral ok 3ATreh O fargifera faseeal o
o Ogiferes Sudg<h SO I ¢
(a) Both (A) and (R) are correct and (R) is the
correct explanation of (A)/(A) 3T (R) <=t
ET @ ST (R), (A) B IS =T 2 |
(b) Both (A) and (R) are correct but (R) is NOT
the correct explanation of (A)/(A) 31T (R)
=T T € 91 (R), (A) HT TOET =TT 981 2
(c) (A) is correct but (R) 1is not correct
(A) IO&T @ 93=< (R) & =&F 21
(d) (A) 1s not correct but (R) 1s correct

(A) TET €T @ 9 (R) T 21

4

W




A college teacher intends to study the problems \/
of latecomers in the classroom. Which type of

sampling method will be appropriate in this |
context?
Teh WEIORTeTd o 3TeHTUeh ohi whall § o |

3T AT ahl THEAT T 3TETAT hid i HIT B! @
30 ded o fehm yeRr &t wiereras wisken sfea

2 (&
(a) Stratified sampling/=ifd Sfd=a=

(b) Random sampling/argfeae Sfdead «)\/
@Purposive sampling/9YATSTH AN
(d) Cluster sampling/H9g Sfcera




What are the activities which take place during
the stage of reconnaissance in action research?
feRaTames g aTT W THtaITaeh TAaTuT o =IYuT »\
o ST ST T hHAhHTT hT ST &7 7;
(1) Identifying and classifying general idea
AT 9T Shi 989 a9T SqEIHL0T
\})i) Describing the facts of the situation
gfiftafaai & ae=ai 1 aufa —
\}jii) Explaining the facts of the situation
ufiftafaai & a=af it sAmer HEr
(1v) Constructing a general plan

HET IisETr &1 fa|for saEr

(v) Developing the next action steps

37Tl foRameass 9ol &1 fasfaa AT
Choose the correct answer from the options
given below :
Hrer foar = faemeat ¥ 9 v 3ew g
Mi) and (111) only/éﬁﬁ (11) 3 (111)
(b) (1) and (11) only/aB‘éTET (1) 3T (11)
(c) (111) and (1v) onlyf%‘cl?r (111) 3 (1v)
(d) (iv) and (v) only/&Hae (iv) 3R (v)




A teacher intends to establish the relationship C )
between educational status of parents and the ’)8)
scholastic achievement of pupils. Which of the
following method of research will be considered
appropriate for this study?

U et atfiruraeRt @t Yrerfires frarfy aem

BIAT it ITeTeh IUCEr & siter Haiel T

& AT €1 39 onmEd & faw @m #@
rgau fafer 3fea art st

(a) Philosophical method/aTeifa fafer

(b) Historical method/tfaeifs fafer
(¢c) Expost facto method/&»’lﬁfj'{ ﬁ\ﬁ‘y
(d) Experimental method/Sareaes fafer
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